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2 3 The Simplex Method

Conclusionfrom previouschapter alliomponentsto

For a standardformLPproblem weneed tocheckonlybasic feasiblesolutions

We can findbasicsolutionswithGaussianelimination

So in order to find optimalsolutions we couldsimplygothroughall possible
basicfeasiblesolution

BUT For largeproblems this iswaytoo computationally expensive
The followingmethodis faster

Simplexalgorithm

1 Startwithanybasicfeasiblesolution

Iii Swap onebasicvariable leavingvariable foranothervariable entering

variable s t objective function improvesthemost

iii Repeatthisuntil no improvementofobjectivefat ispossible

let us work o t the detailsusing the example fromSession4



We write it as a simplextableau

a rats
1 1 1 1 00 0 1

A 1 2 2 1 00 5 b
a 0 0 0 1 0 4

0 1 1 1 0 0 1 5

I 2 3 3 00 O Z

itWeneedto find abasicsolution

let us choose this S s columns as ourpivotcolumns

Weneed to eliminate entries

you
thesefourcolumnsare thepivotcolumns

T te u v st s s

1 1 1 1 00 0 1
2RntRz Re O 3 0 0 1 0 0 3
RitRs Rs O 2 1 1 010 3

0 1 1 1 001 5

R Rs Rs O 7 4 4 000 2 1
NoteByeliminatingthepivot
columnentryhere we canread

off Z on theright t therel
meaninghomponents 0

Abasicfeasiblesolution is X 1 x 0,4 0 v 0 s 3,52 3 53 5
2

There Ex 0 2 1 ii e 2 1 recallhowwegot1
T o basicsolutions

ctis thelastrow lefthandside 4 sessions4and51




